


A

B

C

D

43 3.2

D

E

32 3.21.9 32 3.21.9

D

E

W
IN

TE
RH

AV
EN

, C
A

A 
PR

OP
OS

ED
 P

UB
LIC

 S
AF

TY
 F

AC
ILI

TY
 F

OR
:

DATABASE:

SHEET NUMBER:

SCALE:

SHEET TITLE

CHECKED BY:

PROJECT NO:

DATE:

DRAWN BY:

Co
py

rig
ht 

20
15

, M
PA

 A
rch

ite
cts

, In
c..

  A
ll r

igh
ts 

re
se

rve
d.

c

DESCRIPTION

REVISIONS
NO. DATE

F. 619.236.0557

PROJECT

AMERICAN INSTITUTE OF ARCHITECTS

www.mpa-architects.com

CLIENT

MEMBER

San Diego, CA 92104
V. 619.236.0595

3578 30th Street

W
IN

TE
RH

AV
EN

 
M

 
P

 
A

 
 
 
 
A

 
R

 
C

 
H

 
I
 
T

 
E

 
C

 
T

 
S

 
 
 
 
I
 
N

 
C

 
.

PU
BL

IC
 S

AF
ET

Y 
FA

CI
LIT

Y

COUNTY OF IMPERIAL
PLANNING & DEV.
SERVICES DEPT

801 MAIN STREET
 EL CENTRO, CA 92243

(760) 482-4236

MEZZANINE/ ENTRY
TOWER FRAMING

PLANS

S 2.0

MEZZANINE - FLOOR FRAMING
1/4" = 1'-0" A

MINIMUM TOP AND BOTTOM

SHEAR WALL SCHEDULE

S162-43 T150-54

STUD THICKNESS TRACK
WALL
TYPE

T150-54S162-43

SCREW SPACING
AT PANEL EDGES

TOP AND BOTTOM TRACK ATTACHMENT
TO RIM TRACK TO CONCRETE TO STRUCTURAL STEEL

#8 @ 6" OC

#8 @ 4" OC

SHEAR CAPACITY (PLF)

USE: 15/32" STRUCTURAL 1 APA RATED PLYWOOD SHEATHING

NOTES:
1.  ATTACH  15/32" STRUCTURAL 1 SHEATHING TO STEEL STUD FRAMING WITH SIMPSON #8 PPSD QUICK DRIVE SELF-DRILLING SCREWS (SHANK Ø = .130"). SCREW FASTENER

HEAD MUST BE FLUSH WITH PANEL SURFACE AND PENETRATE INTO THE STEEL STUD FRAMING MEMBER A MINIMUM OF (3) EXPOSED THREADS. INSTALL FASTENER WITH
A MINIMUM ~6" EDGE DISTANCE.

2.  PROVIDE BLOCKING AT ALL PANEL EDGES PER 3/SD1.

3.  FOR STUD ATTACHMENT TO TOP AND BOTTOM TRACK REFERENCE 2/SD1.

4.  INSTALL PLYWOOD PANELS VERTICALLY.

5.  PROVIDE FLAT STRAP BRIDGING AT ALL SHEAR WALLS PER 3/SD1.

6.  PROVIDE FASTENERS @ 12" OC ALONG INTERMEDIATE FRAMING MEMBERS.

#8 @ 6" OC

#8 @ 4" OC

712

1064

43MIL

S162-43

S162-43

T150-54

T150-54

#8 @ 3" OC

#8 @ 2" OC

#8 @ 3" OC

#8 @ 2" OC

SIMPSON 0.157Ø PDPA-175 W/ 1-1/4"
EMBED @ 8" OC 

SIMPSON 0.157Ø PDPW-175 W/ 1-1/4"
EMBED @ 4" OC 

SIMPSON 0.157Ø PDPA-125 W/ 1"
EMBED @ 8" OC

SIMPSON 0.157Ø PDPA-125 W/ 1"
EMBED @ 4" OC

SIMPSON 0.157Ø PDPW-175 W/ 1-1/4"
EMBED @ 4" OC SIMPSON 0.157Ø PDPA-125 W/ 1"

EMBED @ 4" OC

SIMPSON 0.157Ø PDPW-175 W/ 1-1/4"
EMBED @ 4" OC SIMPSON 0.157Ø PDPA-125 W/ 1"

EMBED @ 4" OC

1420

1752

(H
DR

01
) 2

x8
00

S2
50

-5
4

(H
DR

02
) 2

x8
00

S2
50

-6
8

2x
36

2S
25

0-
43

(H
DR

03
) 

2x
36

2S
25

0-
43

(H
DR

03
) 

2x
36

2S
25

0-
43

(H
DR

03
) 

2x
36

2S
25

0-
43

(H
DR

03
) 

2

3'-0"

2

4'-3"

243'-6"

2 7'-3"

2 6'-7"

2 7'-8"

3

3'-5"

3

3'-7"

JOIST
800S162-68
@ 16" O.C.

2x362S250-43
(HDR) 

3:12 MAX ROOF SLOPE

MANUFACTURER:

SPECIFICATIONS:

APPLICATION:

JOHNS MANVILLE

JOHNS MANVILLE BUILT-UP ROOFING SPECIFICATION 4GNC
PRODUCT: 4GNC (1) BASE SHEET, (2) PLY-4 SHEETS, (1) GLASKAP

1.75 - 2.6 POUNDS PER SQUARE FOOTINSTALLED WEIGHT:

UL #: TGFU.R10167

CLASS "A" ROOFING SYSTEM

MANUFACTURER:

SPECIFICATIONS:

APPLICATION:

CARLISLE SYNTEC INCORPORATED

-
PRODUCT: SURE-WELD (TPO), SINGLE-PLY THERMOPLASTIC

1.75 - 2.6 POUNDS PER SQUARE FOOTINSTALLED WEIGHT:

ICC-ES #: ESR-1463
MECHANICALLY-FATENED, SURE-WELD WHITE MEMBRANE IN STANDARD
REINFORCED 60-MIL THICKNESS, ATTACHED OVER 2- LAYERS CARLISLE "FR BASE
SHEET 1S", OVER WOOD DECK w/ CARLISLE HPX OR HPXTRA FASTENERS AND
PIRANHA PLATES. ADJOINING SHEETS ARE OVERLAPPED AND JOINED TOGETHER
w/ A MIN. 1 1/2" WIDE HOT AIR WELD.

MECHANICALLY ATTACHED DIRECTLY OVER WOOD DECK.   MECHANICALLY
ATTACH (1) LAYER JM BASE SHEET, FULLY HOT MOP (2) LAYERS JM PLY-4, FULLY
MOP (1) LAYER GLASKAP GRANULATED CAP SHEET.  SBS IN THE ANGLES AND AT
ALL PENETRATIONS AND WALLS, PROVIDE 10 YEAR NDL.

0.23 - 0.40 POUNDS PER SQUARE FOOTINSTALLED WEIGHT:

INSTALL PER MANUFACTURER'S RECOMMENDATIONSINSTALLATION:

INSTALL PER MANUFACTURER'S RECOMMENDATIONSINSTALLATION:

ALTERNATE CLASS "A" BUILT ROOFING SYSTEM:

CRRC#: 0628-0002

ENTRY TOWER - RESTROOM CEILING FRAMING
1/4" = 1'-0"

ENTRY TOWER ROOF FRAMING
1/4" = 1'-0"

RO
OF

 R
AF

TE
R

80
0S

16
2-

68
 @

 16
" O

.C
.

60
0S

20
0-

68
@

16
" O

.C
.

BA
LO

ON
 W

AL
L F

RA
MI

NG

2

2

9'-0"

5'-10"

JOIST
800S162-43
@ 16" O.C.

(H
DR

04
) 2

x6
00

S2
50

-4
3

28'-1"

CB

C
SD1.2
TYP.

B
SD1.2

TYP.

A
SD1.2

B
SD1.2

TYP.

C
SD1.2

TYP.

C
SD1.2

TYP.

B
SD1.2
TYP.

A
SD1.2

C
SD1.2

TYP.

TYP.

TYP.

600S162-68 @16"
BALOON WALL FRAMING

(F
BM

01
) 2

x6
00

S1
62

-9
7

G
SD1.2

TYP.

G
SD1.2

TYP.

2x400S162-43 COLUMN 

2x400S162-43 COLUMN 

L

IC
ENSED ARCHITECT

STATE O OF CA LIF
RNIA

NHOJ

RUMSEY

C26819
Exp. 3-31-2019

NO SCALE

15137_WH STRUCT PLANS

09-19-17

lm

mp

15137

4"x4"x1/4" HSS  

COLUMN

4"x4"x1/4" HSS  

COLUMN

17
'-8

 1/
2"

4'-
0"

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
4

AutoCAD SHX Text
(ESR #2138)

AutoCAD SHX Text
(ESR #2138)

AutoCAD SHX Text
(ESR #2138)

AutoCAD SHX Text
(ESR #2138)







W
IN

TE
RH

AV
EN

, C
A

A 
PR

OP
OS

ED
 P

UB
LIC

 S
AF

TY
 F

AC
ILI

TY
 F

OR
:

DATABASE:

SHEET NUMBER:

SCALE:

SHEET TITLE

CHECKED BY:

PROJECT NO:

DATE:

DRAWN BY:

Co
py

rig
ht 

20
15

, M
PA

 A
rch

ite
cts

, In
c..

  A
ll r

igh
ts 

re
se

rve
d.

c

DESCRIPTION

REVISIONS
NO. DATE

F. 619.236.0557

PROJECT

AMERICAN INSTITUTE OF ARCHITECTS

www.mpa-architects.com

CLIENT

MEMBER

San Diego, CA 92104
V. 619.236.0595

3578 30th Street

W
IN

TE
RH

AV
EN

 
M

 
P

 
A

 
 
 
 
A

 
R

 
C

 
H

 
I
 
T

 
E

 
C

 
T

 
S

 
 
 
 
I
 
N

 
C

 
.

PU
BL

IC
 S

AF
ET

Y 
FA

CI
LIT

Y

COUNTY OF IMPERIAL
PLANNING & DEV.
SERVICES DEPT

801 MAIN STREET
 EL CENTRO, CA 92243

(760) 482-4236

DETAILS

SD 1.1
NOT USED

NO SCALE
M

NOT USED

L

IC
ENSED ARCHITECT

STATE O OF CA LIF
RNIA

NHOJ

RUMSEY

C26819
Exp. 3-31-2019

NO SCALE

15137_WH STRUCT PLANS

09-19-17

lm

mp

15137

TYPICAL COLUMN PLAN VIEW
NO SCALE

GRADE BEAM FOOTING
NO SCALE

8"

3"
CLR.

SLAB PER PLAN

MI
N 

DE
PT

H 
PE

R 
PL

AN

MIN WIDTH PER PLAN

CONTROL JOINT
PER DETAIL A/SD1.0

1 1
/2"

 

COLUMN &
BASE PLATE

C.J. TYP.

SLAB EDGE

3" MIN.

PER BLDG.
MFR.

TY
P.

PLAN VIEW

3" CL
R.

REINF'G PER PLAN

INTERIOR COLUMN FOOTING
NO SCALE

CONTINUOUS SPECIAL INSPECTION

3"

ALL SHOP WELDING SHALL BE DONE IN A
CERTIFIED STEEL FABRICATORS SHOP

CERTIFIED WELDER WITH 
FIELD WELDING TO BE DONE BY A

1.

2.

NOTE

1/4

15
"

STEEL COLUMN PER SCHEDULE

4 - 3/4"Ø  ANCHOR BOLTS W/

FILL BLOCKOUT FLUSH
AFTER COLUMN IS ERECTED

1 1/2" DRYPACK

MIN FTG WIDTH PERPLAN

8"
MI

N 
FT

G 
DE

PT
H 

PE
R 

PL
AN

REINFORCING
PER SCHED.
TOP & BOTTOM

CONT. GRADE
BEAM PER PLAN

PE
R 

SC
HE

D.

4"

3/4" HEX NUTS AND LEVELER NUTS

1 1/4" TYP

STEEL BASE PLATE PER SCHEDULE

CL
R

GRADE BEAM
FOOTING PER
PLAN

(4) SIDES TO RECEIVE 1/4"
PREFORMED JOINT FILLER AND

SEALANT, NO EXCEPTIONS

COLUMN WITH RECESSED
BASE PLATE

TWO SETS OF (2) #4 REBAR,
WHERE CONTRACTION OR
CONSTRUCTION JOINT DOES
NOT OCCUR. SEE
FOUNDATION DRAWINGS FOR
PLACEMENT

6" M
IN. TYPICAL

CONTRACTION OR
CONSTRUCTION JOINT

CO
NT

RA
CT

IO
N 

OR
CO

NS
TR

UC
TI

ON
 JO

IN
T

TYPICAL COLUMN PLAN VIEW
NO SCALE

CONTRACTION OR
CONSTRUCTION JOINT

CO
NT

RA
CT

IO
N 

OR
CO

NS
TR

UC
TI

ON
 JO

IN
T

GRADE BEAM FOOTING  (2-POUR)
NO SCALE

PERIMETER FOOTING @ OPENING  (2-POUR)
NO SCALE

8"

SLAB PER PLAN

MI
N 

DE
PT

H 
PE

R 
PL

AN

CONTROL JOINT
PER DETAIL M/S2

EXT. CONCRETE SLAB

8"

SEE ARCH'L PLANS FOR
EMBEDDED SLAB PROTECTION

SLOPE

MI
N 

FT
G 

DE
PT

H 
PE

R 
PL

AN

PERIMETER WALL FOOTING  (2-POUR)
NO SCALE

MIN FTG WIDTH PER PLAN

REINF'G PER PLAN
(CONT. THROUGH
FTGS. @ COLS.)

4"
 M

IN
.

MI
N 

FT
G 

DE
PT

H 
PE

R 
PL

AN

MI
N 

FT
G 

DE
PT

H 
PE

R 
PL

AN

3"
CLR.

3" CL
R.

MIN 30 BAR DIA. LAP
SLAB REINFORCING
PER FDN PLAN

#3 DOWELS LAPPED WITH AND AT
SAME SPACING AS SLAB REINFORING

8 1/2" MIN.

#4 DOWELS @ 32"
O/C ALTERNATE

12"          24"

MIN FTG WIDTH PER PLAN

REINF'G PER PLAN
(CONT. THROUGH
FTGS. @ COLS.)

MI
N 

FT
G 

DE
PT

H 
PE

R 
PL

AN

3"
CLR.

3" CL
R.

MIN 30 BAR DIA. LAP
SLAB REINFORCING
PER FDN PLAN

#3 DOWELS LAPPED WITH AND AT
SAME SPACING AS SLAB REINFORING

8 1/2" MIN.

3"
CLR.

MIN WIDTH PER PLAN

3" CL
R.

REINF'G PER PLAN

NOTE:

REFER TO DETAIL F/SD1.1 FOR A 2-POUR DETAIL

INTERNAL WALL FOOTING  
NO SCALE

NON BEARING WALL
NO SCALE

TYP STUD WALL INTERSACTION DETAL.
NO SCALE

TYP. HOLDOWN 
NO SCALE

36

24

#4 DOWEL

@ 16" O.C.

2- #5 T & B TYP.

CONC. SLAB PER PLAN

1.75"

6" MIN.

24
" M

IN
.

POR PLAN. 

CU
RB

VA
RI

ES STUD

2#10 SCREWS
EACH SIDE
THROUGH FLANGES

5
8 DIAMETER
ANCHOR BOLT

TRACK

SILL SEALER

STIFFCLIP "CL400-68"
W/4#12 SCREWS

THRUST WASHER

SLAB ON GRADE

DBL. STUD WHERE
HOLDOWN OCCURS

DBL. STUD

HOLDOWN SEE PLAN FOR
SIZE AND LOCATION

#10 TEK SCREW (TYP.)

#10 TEK SCREW (TYP.)

#10 TEK SCREW (TYP.)

TYPICAL EXT. OR INT.
CORNER

EXT. CORNER W/ HOLDOWN

TYPICAL INT. CORNER

TYPICAL INT. INTERSETION

#10 TEK SCREW (TYP.)

1
2

3 4

HOLDOWN (CD SERIES)
W/ SCREWS TO SHEARWALL

POST &
ANCHOR TO CONCRETE AS

REQ'D  PER PLAN.

BUILDING SYSTEM
SHEARWALL POST,
SIZE AND THICKNESS AS REQ'D
PER PLAN.

 BUILDING SYSTEM
TYPICAL TRACK, SIZE AND
THICKNESS AS REQ'D BY
DESIGN

NOT USED
NO SCALE

METAL BUILDING
STRUCTURE BEYOND
PER P.E.B.M.

REINF'G PER PLAN
(CONT. THROUGH
FTGS. @ COLS.)

BASE CHANNEL BY
P.E.B.M.

6" METAL STUD
FRAMING INFILL
BETWEEN METAL
BUILDING STRUCTURE

5/8" Ø x 12" LONG (10" MIN.
EMBEDMENT) ANCHOR
BOLT @ 48" O.C., 12" MAX.
@ ENDS, TYP.

BASE CHANNEL BY
P.E.B.M.

5/8" Ø x 20" LONG (18" MIN.
EMBEDMENT) ANCHOR
BOLT @ 48" O.C., 12" MAX.
@ ENDS, TYP.

CONCRETE STEM WALL
PER FOUNDATION PLAN

E

LK

JI

DCBA

GF H

NOT USED



W
IN

TE
RH

AV
EN

, C
A

A 
PR

OP
OS

ED
 P

UB
LIC

 S
AF

TY
 F

AC
ILI

TY
 F

OR
:

DATABASE:

SHEET NUMBER:

SCALE:

SHEET TITLE

CHECKED BY:

PROJECT NO:

DATE:

DRAWN BY:

Co
py

rig
ht 

20
15

, M
PA

 A
rch

ite
cts

, In
c..

  A
ll r

igh
ts 

re
se

rve
d.

c

DESCRIPTION

REVISIONS
NO. DATE

F. 619.236.0557

PROJECT

AMERICAN INSTITUTE OF ARCHITECTS

www.mpa-architects.com

CLIENT

MEMBER

San Diego, CA 92104
V. 619.236.0595

3578 30th Street

W
IN

TE
RH

AV
EN

 
M

 
P

 
A

 
 
 
 
A

 
R

 
C

 
H

 
I
 
T

 
E

 
C

 
T

 
S

 
 
 
 
I
 
N

 
C

 
.

PU
BL

IC
 S

AF
ET

Y 
FA

CI
LIT

Y

COUNTY OF IMPERIAL
PLANNING & DEV.
SERVICES DEPT

801 MAIN STREET
 EL CENTRO, CA 92243

(760) 482-4236

DETAILS

SD 1.2

NO SCALE

15137_WH STRUCT PLANS

TYP.SILL CONNECTION DETAIL. 
NO SCALE

A TYP. JOIST CONNETION.
NO SCALE

TYP. ROOF RAFTER TO STUD CONNECTION. 
NO SCALE

C D

STEEL
CONT. SILL 
TRACK

STUD JAMB
DOUBLE STEEL 

CRIPPLE STUD

(2) #10 TEK

JAMB STUD

(1) #10 TEK

SIDE TO TRACK
IYP.

STUD MUST FIT 
TIGHT AGAINST
TRACK WEB
BEFORE BEING
SCREWED

STUD CONNECTION SILL CONNECTION
A

B

 SCREWS TO
SCREWS EA.

STUD

 JOIST PER PLAN

 SUPPORT CLIP
 ATTACHED TO SINGLE
LIGHT GAUGE GIRDER

350T 125-43

STUD PER PLAN.

 ROOF RAFTER
 800 S162-68 @16" O.C.

#8 SCREW

BOXED HEADER CONNECTION
NO SCALE

FULL HEIGHT JAMB STUDS

6" LONG SECTION OF STUD
ATTACHED TO JAM WITH

(4) #10-16 SCREWS

18GA MIN. TRACK HEADER CONNECTION

CAP OPENING SIDE OF JAMB WITH
TRACK ATTACHED WITH (1) #10-16

SCREW AT 16" O/C IN EACH LEG

HEADER SECTION PER PLAN

CRIPPLE STUDS

(1) #10 SCREW
TYP. AT EACH FLANGE

(2) #10-16 SCREWS
AT 16" O/C

CLIP ANGLE

1"

1/2"

1/2"
EQ.

(1) #10 SCREW 
TYP. AT EACH FLANGE

B NOT USED E

NO SCALE
F

2x400S162-43 COLUMN W/ #10 SCREW @16"

6" LONG SECTION OF STUD
ATTACHED TO JAM WITH

(4) #10-16 SCREWS

CAP OPENING SIDE OF JAMB WITH
TRACK ATTACHED WITH (1) #10-16

SCREW AT 16" O/C IN EACH LEG

2x600S162-97 BEAM 

EXTERIOR WALL STUDS 

(1) #10 SCREW
TYP. AT EACH FLANGE

(2) #10-16 SCREWS
AT 16" O/C

(1) #10 SCREW 
TYP. AT EACH FLANGE

SIMPSON "HUC" HANGER

TYP. BEAM TO COLUMN CONNECTION G H I

TYP. BEAM TO COLUMN CONNECTION J

24"

SLAB & REINF.
PER PLAN

REINFORCING
PER FOOTING 

3"
CLR.

18
"

3/16

HSS COLUMN
PER PLAN

CENTER LINE OF COLUMN

5
8" DIA. BOLT

12
" E

MB
ED

ME
NT

SCHEDULE

1 1 2"

1 12"

3/162 12"

5
8" DIA. BOLT

1

12
"

12"

1/4" THICK PLATE. 

HSS COLUMN PER PLAN

K

12"x12"x1/4"  BASE PLATE

NO SCALE

NO SCALE NO SCALE NO SCALE

NO SCALE NO SCALE

3" CL
R.

BASE PLATE PLAN VIEW

1

NOT USED

NOT USED

NOT USED

NOT USED

NOT USED

NOT USED

NOT USED

NOT USED

NOT USED

NOT USED

09-19-17

lm

mp

15137

L

IC
ENSED ARCHITECT

STATE O OF CA LIF
RNIA

NHOJ

RUMSEY

C26819
Exp. 3-31-2019


